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I EIE SN I
FM: AL6tD MPAQJE= NASATLH(BEAES/AA)
& Jess830gtxd (&)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
| Ogtdol o A XId 15,000
ASZEEH0IEAE 3,010,300 2,060,000 950,300
2 733,000
as 1,680,000
< 597,300
MESATEAY 741,000 65,000 676,000
i 570,000
< 171,000
403 MtXISHH S0l & 741,000 65,000 676,000
as 570,000
< 171,000
01 XM A2 X 741,000 65,000 676,000
OH&(NEY) MEZE =&AY 195,000
s 150,000
< 45,000
OLE M= MEHISA Z&AEY 546,000
as 420,000
< 126,000
SN ESELZ = d 600,000 450,000 150,000
= 400,000
< 200,000
403 MtXISHH S =0l & 600,000 450,000 150,000
= 400,000
< 200,000
01 XM A=2E X 600,000 450,000 150,000
OEdtd =8 ZIYHISELR ZHAMY 600,000
= 400,000
< 200,000
ME=0IE TAAY 102,600 220,000 A 117,400
s 70,000
< 32,600
403 XIS E X201 E 102,600 220,000 A 117,400
s 70,000
< 32,600
01 X SHHAN2E = 102,600 220,000 A 117,400
OOl MEHME S22t T ALY 102,600
s 70,000
< 32,600
ME22XE XE - 84 55,900 65,000 29,100
= 43,000
< 12,900
308 XXM SOIA 55,900 65,000 29,100
= 43,000
< 12,900
01 AXNSHBLAEES 55,900 65,000 A 9,100
OMEf 22X XE -84 55,900




I EIE SN I
MM HASD MHPEHQ= NHASIXIAL(BEES/XHA)
Sl NHHESFBHOIBAIL (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
= 43,000
= 12,900
S AAMERH 2= 180,000 0 180,000
= 180,000
403 XX SHHS K20 & 180,000 0 180,000
= 180,000
01 XIS AS2E X 180,000 0 180,000
OZAAMEFH (24 HLS) ZAAMY 180,000
= 180,000
ANAOE =4 540,000 1,260,000 A 720,000
g 540,000
403 XX SHHS K20 & 540,000 1,260,000 A 720,000
Fag 540,000
01 XIS A=Z2E X 540,000 1,260,000 A 720,000
OFEFTAN AGEAM TAIMEISA Z2E ZAAS 540,000
g 540,000
S22 AA BelAdX ESHIMNE AIYE 140,800 0 140,800
2 110,000
o=} 30,800
403 XX SRS K 20| & 140,800 0 140,800
2 110,000
= 30,800
01 AXESHE2E X 140,800 0 140,800
od=2=2st&4A 224X SHIMSE AFY 140,800
= 110,000
& 30,800
NHASAHAENOISAIE 650,000 0 650,000
Fag 500,000
& 150,000
403 XIS S X =0l & 650,000 0 650,000
2 500,000
= 150,000
01 XIS A2 X 650,000 0 650,000
OLas Megsest2d ZHAIY 650,000
= 500,000
& 150,000
ANHAEHUME|HEHN 3,000 33,000 A 30,000
NAES3 R =203 =24 3,000 3,000 0
307 2izto| A 3,000 3,000 0
04 QIZ2tSHALALS B = 3,000 3,000 0
OXNESs| A2 &AM 3,000
OfsAlEE S Y 22 1,415,323 1,046,497 368, 826
= 560,320
= 855,003




AR BFNYR SN BT
M AYE D MTAQAYS NABATH(BLLS/T )
Sl OHMSASESUBR (B9 ®R)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
O == I off Ol 2 AHE 380,016 321,100 58,916
= 292,320
< 87,696
403 UHXISHHSA=0l& 380,016 321,100 58,916
= 292,320
< 87,696
01 HXESHMA=LE L 380,016 321,100 58,916
OOt == HIcHH AL 380,016
= 292,320
< 87,696
OrME= Ool24 XA 259,800 129,890 129,910
308 XXM SO0l A 259,800 129,890 129,910
01 IXNHHBNEES 259,800 129,890 129,910
OOtMESZ= Ha24 X 259,800
OFM=S=2 OoHY X X 149,507 149,507 0
308 XXIEHHSOIA 149,507 149,507 0
01 AXHHILEES 149,507 149,507 0
O0tME= mol&XE XA 149,507
Ofd=s=2 X2 a2eldlH 29 JI& 460,000 400,000 60,000
= 138,000
< 322,000
308 MtXIEHSOIH 460,000 400,000 60,000
= 138,000
< 322,000
1037/ 2S0HUHeBHEAEALS HI 460,000 400,000 60,000
OOts=S A 2eldlH 29 X 460,000
= 138,000
< 322,000
OHsAE E5ES 2,000 2,000 0
202 oddl 2,000 2,000 0
01 = LH 4 1l 2,000 2,000 0
OMSAESSEE 2,000
MATXI2 EdI12 XI& 44,000 44,000 0
= 30,000
< 14,000
308 XXIEHHSOIA 44,000 44,000 0
= 30,000
< 14,000
01 AXHHIYEES 44,000 44,000 0
OMAXIS 8712 XI& 44,000
= 30,000
= 14,000




I EIE SN I
FM: AL6tD MPAQJE= NASATLH(BEAES/AA)
Sl opMSASEsY R (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
HENIEHAE XA X2 120,000 0 120,000
= 100,000
< 20,000
403 UHXISHHSA=0l& 120,000 0 120,000
= 100,000
< 20,000
01 HXESHMA=LE L 120,000 0 120,000
OMEXNAEHAIE EXAY XA 120,000
= 100,000
< 20,000
e 2o 2 HIIS 2eldE 8,687,706 7,363,760 1,323,946
= 7,280,213
=) 1,407,493
=g Hols2el 2,162,373 1,186,560 975,813
= 1,188,213
< 974,160
SAEIE 2HEBA(UWS) 131,560 131,560 0
308 XX EHHSOIA 131,560 131,560 0
10 B3I/ 2SS ZA&EEALS I 131,560 131,560 0
OsABIZ=HEL(US) 131,560
SEHHE =HEH S 648,900 636,000 12,900
= 216,300
= 432,600
308 XXM SOIA 648,900 636,000 12,900
= 216,300
< 432,600
01 XML EES 648,900 636,000 12,900
OsZEHHle =H2d= 648,900
= 216,300
< 432,600
ot&E Gt MdJ|l HtALY 134,000 153,000 A 19,000
= 134,000
308 MtXIEHMSOIH 134,000 153,000 A 19,000
= 134,000
01 HXNHHNBHELS 134,000 153,000 A 19,000
Ostadt= MAgd HstA 134,000
= 134,000
SAPHE=HE XX ALY 30,000 30,000 0
403 XA SA=0l& 30,000 30,000 0
01 HXSHMA2E X 30,000 30,000 0
OsALE=HE XX ALY 30,000
Meg sUote XX 37,413 44,000 A6,587
= 37,413




o

S a g = a3
o 2o & HolE 2eld
A=sd HolS2el

u
A
i
x
o
Ivd
04

R.RA-ZE-G(HH) - HRAY - BES il H D = 2t
403 XXM S X201 37,413 44,000 26,587
= 37,413
01 XXM A2E = 37,413 44,000 N6,587
ONgE sUite XX 37,413
= 37,413
=429 oG ESAY 22,000 22,000 0
308 XXM S0l A 22,000 22,000 0
07 XX SHM2ARES 22,000 22,000 0
O=2ZdRY otdot+ HatAY 22,000
St HIISE 3 A3slbl 2,000 2,000 0
201 L2l 2,000 2,000 0
02 =224l 2,000 2,000 0
Osgt=HIl=8gsa Asltl 2,000
Sty #sKE 88,500 168,000 279,500
= 88,500
403 Ut S S X201 & 88,500 168,000 279,500
= 88,500
01 XXM A=2E = 88,500 168,000 279,500
SZEHH Y =STGE =& 88,500
= 88,500
oiRe] MHEAYE ISR L otE G 1,068,000 0 1,068,000
= 712,000
< 356,000
403 XAXISH M S K201 A 1,068,000 0 1,068,000
= 712,000
= 356,000
01 AXISHMA2E = 1,068,000 0 1,068,000
OMHE S HIIS0HB AL HEHS ALY 1,068,000
= 712,000
< 356,000
HOIZ2XM2ANE &5 6,525,333 6,177,200 348,133
= 6,092,000
< 433,333
A" SXI(HFA M2 X) 989,133 0 989, 133
= 802,000
= 187,133
403 XAtXISHM S K201 ™ 989, 133 0 989,133
= 802,000
= 187,133
01 AXSHMA=2EE 989, 133 0 989, 133
O&H= HM20HE X =&AL 989, 133
= 802,000
< 187,133
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ERE VRE-E BT NCED & HlDE2

A2PAIE EX 3,259,200 1,211,100 2,048,100
= 3,013,000
< 246,200

403 UHXISHHSA=0l& 3,259,200 1,211,100 2,048,100
= 3,013,000
< 246,200

01 HXESHMA=LE L ,259,200 1,211,100 2,048,100
Oudtz ZAA2AHA 2,708,200
= 2,462,000
< 246,200

Odd - sdZSHII=Xe

ALY 551,000
= 551,000

g4y &= ,360,000 817,000 543,000
= ,360,000

403 XSS A0l & ,360,000 817,000 543,000
= ,360,000

01 AXSHHA=2E = ,360,000 817,000 543,000
OFF=A MR =de EXAY 320,000
=2 320,000
O=2dz M s=HH ,040,000
= ,040,000

SA 2 HIISHM2AE £X 417,000 278,000 139,000
= 417,000

403 UHXSHHSA=0l& 417,000 278,000 139,000
= 417,000

01 HXSHMA2E X 417,000 278,000 139,000
Oz SASFRHIIS SSHM2AE £X 417,000
= 417,000

TEd UXE2 =4 MY 500,000 0 500,000
= 500,000

403 MtXISHHE X201 & 500,000 0 500,000
= 500,000

01 X SN2 E=x 500,000 0 500,000
Oungtz &&d ol XIEt 500,000
= 500,000

HE2IAZH (B2 E ) 75,943 72,202 3,741

Jl2&dl 75,943 72,202 3,741

JlE= 3l 75,943 72,202 3,741

201 et 16,853 23,062 26,209

01 At 22l I 16,853 23,062 A6,209
OJle=+=EHl 6,878
OJl=s &l 9,975
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A= g3z = SN =
B RRBTIIESE L NPS L0
SEHPETENTERIET (29l 8)
AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
403 UHXSHHSA=0l& 250,000 0 250,000
= 250,000
01 HXHMA=LE X 250,000 0 250,000
OFEANZE 2T ZIAAE &X 150,000
= 150,000
OZZ0IEAE 2 HOIEHE &X 100,000
= 100,000
EFAEQIEN Dot QHEE XIS 154,000 161,000 A7,000
= 154,000
308 XX EHH SOl A 154,000 161,000 A7,000
= 154,000
01 AXSHBLELS 154,000 161,000 A7,000
OEAZAEN 29 154,000
= 154,000
tHolerd He 28,900,441 11,615,300 17,285, 141
= 21,604,493
< 7,295,948
=2 s AR 2,775,000 0 2,775,000
= 2,475,000
S 300,000
403 Mt SHHSA=0l& 2,775,000 0 2,775,000
2 2,475,000
< 300,000
01 X SHMA2E X 2,775,000 0 2,775,000
Ox=a2XtSX FOHAIA 2,775,000
=2 2,475,000
= 300,000
=2 NSk SEUEY 2= 8,100,000 0 8,100,000
= 6,000,000
< 2,100,000
403 MRS E X201 E 8,100,000 0 8,100,000
= 6,000,000
< 2,100,000
01 XS M A=2EE 8,100,000 0 8,100,000
O=2Xtsxt sdel=Zet 2= 8,100,000
= 6,000,000
< 2,100,000
AR HEIA H2AL (ZIIHXEXIE) 3,866,991 1,492,500 2,374,491
= 2,577,993
< 1,288,998
308 XX EHH SOl A 3,746,991 1,492,500 2,254,491
= 2,497,993
< 1,248,998
01 AXSHBLELS 3,746,991 1,492,500 2,254,491
OL::E S &I HIAY X 3,135,600




A2 BINEYR SH IS0
Hau: RSB L NPSUE0Y
S torEad e CEE-ED
- _ _ RE]
2.2 FHB B EH) - NEAY - BES Ol At o %Eﬁ HR=2
= 2,090,400
== 1,045,200
OL=dEX HEIA H2EX 82X 611,391
= 407,593
=} 203,798
403 XX SRS K201 & 120,000 0 120,000
= 80,000
& 40,000
01 MHXSHHNE2BE = 120,000 0 120,000
OLPG 3= X M X2 X 120,000
= 80,000
o=t 40,000
HHAINAXE P2H EX 215,150 631,800 AN416,650
= 165,500
= 49,650
403 XX SHS K201 & 215,150 631,800 A 416,650
= 165,500
= 49,650
01 XIS AS2E X 215,150 631,800 AN 416,650
OFAINAXE RUH BEX 215,150
= 165,500
&< 49,650
NMOIXS A 20 K& 11,917,000 7,508,000 4,409,000
= 8,682,000
& 3,235,000
403 XX SHHS K20 & 11,917,000 7,508,000 4,409,000
= 8,682,000
& 3,235,000
01 AAXHHE2BE = 11,917,000 7,508,000 4,409,000
OdII X=X FOHASE 11,917,000
= 8,682,000
= 3,235,000
HII0IEX ES ALY 250,000 71,250 178,750
= 250,000
403 XX SRS K20 & 250,000 71,250 178,750
= 250,000
01 XS HXNE2EE X 250,000 71,250 178,750
OHEIIOIEX ESAY 250,000
= 250,000
O 210l S5t X} 2F X &AM 292,500 127,500 165,000
2 195,000
== 97,500
403 XX SHHS K20 & 292,500 0 292,500
= 195,000
= 97,500




A= g3z = SN =
Hau: RSB L NPSUE0Y
S torEad e CHo| ® Q)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
01 HXSHMA2E X 292,500 0 292,500
O0eol Satxte LPGRH & & XI& ALY 292,500
= 195,000
< 97,500
H=sAHU BESAY 178,800 228,000 A 49,200
= 149,000
< 29,800
403 XIS S K =0l & 178,800 228,000 ~49,200
= 149,000
< 29,800
01 X SHHN2E = 178,800 228,000 249,200
OsAJIY MsAHU XA 178,800
= 149,000
= 29,800
NXH oEs3% &1 - 22 585,000 146,250 438,750
= 390,000
< 195,000
403 A X EHHSH20IA 585,000 146,250 438,750
= 390,000
< 195,000
01 X ESHHMA=LE L 585,000 146,250 438,750
OXNXH HIEEsEY 4X 585,000
= 390,000
= 195,000
SZ2THHI AT M2 AL 720,000 600,000 120,000
= 720,000
403 XSS =0l & 720,000 600,000 120,000
= 720,000
01 X SHMA=2E X 720,000 600,000 120,000
OSZMHIMHT MIMS(E2H HAXGE 2
2yl B=x) 720,000
= 720,000
e e 3,561,735 3,118,232 443,503
= 2,685,950
< 875,785
SAToh 2HU(HS) 20,000 15,000 5,000
308 XXX S0 A 20,000 15,000 5,000
01 AXSHBLEES 20,000 15,000 5,000
OMdIol 2HUH(UHS) 20,000
Zd0IE HMel - g K& 3,491,735 3,053,232 438,503
= 2,685,950
< 805,785
308 XXM S0 A 3,491,735 3,053,232 438,503
= 2,685,950
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N & O & AF &2 F Al A
20198 = =20l & LS SBaMSE=S ~ S3NE=
A= @MY= SN aERID
HE: o2 20| YXE #=E 52
©9l: ©Bl @S0} SHEGts QINE 2 33 (St &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
=&zl 179,681,163 171,267,371 8,413,792
= 101,381,400
s 48,674,000
J| 6,379,740
< 23,246,023
o2 20l EXles #=8 == 178,009,596 169,577,054 8,432,542
= 101,381,400
s 48,674,000
J| 6,379,740
< 21,574,456
CQ BFI ¢ES= HNHE 2 B2 62,486,700 48,232,700 14,254,000
s 45,596,000
J| 6,117,000
< 10,773,700
SHELSE LAY 19,678,000 19,978,000 A300,000
s 16,237,000
< 3,441,000
403 A X EHHS =0l A 19,678,000 19,978,000 A300,000
s 16,237,000
< 3,441,000
01 X EHHM A= EE 19,678,000 19,978,000 A.300,000
OsHEUEESFIHEAS 19,678,000
s 16,237,000
=) 3,441,000
AR 2T AIEHSAS 2,260,000 2,260,000 0
s 2,000,000
< 260,000
403 UHXSHHSA=0l& 2,260,000 2,260,000 0
s 2,000,000
< 260,000
01 X SHMA2E X 2,260,000 2,260,000 0
OLRE=TAENSAIS 2,260,000
s 2,000,000
< 260,000
MDA 900,000 1,051,000 A 151,000
403 MtXISHH S A0l & 900,000 1,051,000 A 151,000
01 X SN2 L= 900,000 1,051,000 A 151,000
=S MDA 900,000
H2X9 HeEES EMNLAY 6,117,000 5,245,000 872,000
J| 6,117,000
403 XIS E X201 & 6,117,000 5,245,000 872,000
J| 6,117,000
01 X EHHA=LE L 6,117,000 5,245,000 872,000
OH=XY Hes =ZMHHAS 6,117,000
J| 6,117,000
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92 20l GXE W= 55
S0 222 WRS =1 &2 (cho &)
R.RA-ZE-G(HH) - HRAY - BES il H D = 2t
IUHLEES 1,267
| 1,267
=== 641
| 641
MdIHEE S 556
| 556
¥ILEE= 83
| 83
HEHSIE SR ALY 4,001,400 4,446,000 A 444,600
s 3,078,000
< 923,400
403 Ut S EX201 & 4,001,400 4,446,000 A 444,600
s ,078,000
= 923,400
01 XXM A=2E = 4,001,400 4,446,000 A 444,600
OMESIE SJAY 4,001,400
fay 3,078,000
= 923,400
HEQEA HZA 3,387,456 6,502,360 A3,114,904
= 2,954,400
< 433,056
403 XAXISH M S K201 A 3,387,456 6,502,360 A3,114,904
= 2,954,400
< 433,056
01 XXM A2E = , 387,456 6,502,360 A3,114,904
OHIE2E M2 AL 3,387,456
= 2,954,400
= 433,056
cAEBHEs NG 93,000 93,000 0
| 93,000
308 XXIEHS0IA 93,000 93,000 0
| 93,000
01 AXNHHEBANEES 93,000 93,000 0
O==ZEd&8s XNIAAZ 93,000
| 93,000
=2d=H JIS32Z &bl 10,000 10,000 0
J| 10,000
202 4 HI 10,000 10,000 0
| 10,000
01 = LHA YI 5,500 5,500 0
OZ2Z = JI2Agae g2F2 5,500
| 5,500
03 22AH R0 bl 4,500 4,500 0
OZ22==H szl S& A Z AL 4,500
| 4,500




&)

F

aJ
=
o
A
Rl
3+
_
I

i M

o

o

=

w <

K0 o)

W

¥ =

0

o)

W

K —

N

i <

a2 3l

2 Mg

R0 0L Of

<

n0

Kio

Hl w

500

500

500

A 554

H3r
Wikd
RIS

5,400

5,400

5,400

20,000

20,000

10,000

10,000

4,340

4,340

4,340

15,000

13,900

600

13,300

1,100

100

1,

16,054

Off &t 24

5,400
5,400
5,400
5,400
5,400
5,400
5,400
20,500
20,500

Jl

Jl

J|

Jl

20,500
20,500
10,500
10,500
10,500
10,000
10,000
10,000

Il

y

Il

4,340
4,340
4,340
4,340
4,340
4,340
4,340
15,000
15,000
13,900
13,900

Jl|

Jl

J|

Jl

Il

600
600
600
13,300

Jl

2,600
2,600
10,700
10,700

Jl

Jl

,100
,100
,100
,100
,100

1
1
1
1
1

15,500
15,500

y

Il

Jl

<
or

=1

Kk

<+

n0
o

202 Oddl

01 =LHOI LI

i)

202 04l

01 SLHOYI

KJ
K

A1

| & = Ol

ol
rr

03

Ab2Hl 2= A

=4
e

£l

=<
[}

ol

Kk

<+

n0
i)

202 04l

| & 2 0l

od

i

03

AL A EARRI AL

EIDNE-:]

=
e

431

b

2
=]

o)

O

30
0B

)

gl
Rl
<+

1of
K-

80
0K
J
oll

01 AtR 2t 2l |

ou=tl

30
OH
H0
Mo

KAl

ok

fo
o
M0
Mo

202 o4 Hl

01 =LHO I

o
ol

n0

ior
oJ

o0
K]

0

30
U

pd
7l
!
<+

ot
®0




AR ENHE SN aEBR
B e 20 UXE #=8 59
ool S50 SH2ALZ WRE =XE 2B (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
201 ¢er24| 14,450 15,004 A 554
J| 14,450
01 At 22l 600 600 0
o=l 600
J| 600
02 2324l 13,850 14,404 A 554
O=323<LHA 2,600
J| 2,600
OAE ZHI S X 3,360
J| 3,360
OXtg - &EH| 7,890
J| 7,890
202 o4l 1,050 1,050 0
J| 1,050
01 = LH 4 Hi 1,050 1,050 0
O&GoH ZAESHI 1,050
J| 1,050
=2 A0E 8¢y 84 24,000 24,000 0
308 XXIEHHSOIA 24,000 24,000 0
10 3/ 2SOHUHSZAEEALS I 24,000 24,000 0
OSMIH HWERIA = 24,000
ey FEAY SHEI2EHE =8 45,000 0 45,000
J| 45,000
207 RO 45,000 0 45,000
J| 45,000
01 A2 39l 45,000 0 45,000
Olstd MY SHII23HE =€ 45,000
J| 45,000
St A4 522 ARG M3 24 107,788,000 108,916,000 A 1,128,000
= 98,422,000
< 9,366,000
St=XMel & &= 12,375,000 12,212,000 163,000
= 11,021,000
< 1,354,000
403 A X EHHS 20l A 12,375,000 12,212,000 163,000
= 11,021,000
< 1,354,000
01 X EHHMA=LE L 12,375,000 12,212,000 163,000
Odt=xel& &5 12,375,000
= 11,021,000
< 1,354,000
St=Xel OIS ALY 709,000 0 709,000
= 700,000
< 9,000




4= sFael SN aEBAD
HEM: U2 20 EXl=s #H=28 5=
CHel: BIAGAN HEOCR WNE MEBHY T4 CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2

403 XX SHHS K20 & 709,000 0 709,000
= 700,000
& 9,000

01 AIXISHHMA2E X 709,000 0 709,000
Odte=Hel =oAL 709,000
2 700,000
=} 9,000

oMl =2aE 738,000 992,000 A 254,000
= 738,000

403 XX SHHS K2 0| & 738,000 992,000 A 254,000
= 738,000

01 XIS A=Z2E X 738,000 992,000 A 254,000
Odt=XHel ¥ A2 738,000
= 738,000

sOHE0tSot= =& 24,492,000 19,791,000 4,701,000
= 23,370,000
o= 1,122,000

403 XX SHHMS K201 & 24,492,000 19,791,000 4,701,000
= 23,370,000
= 1,122,000

01 XS AS2E X 24,492,000 19,791,000 4,701,000
OsHE0ISote= =34l 24,492,000
= 23,370,000
& 1,122,000

ote=2= &H| 32,693,000 40,039,000 NT,346,000
2 27,783,000
& 4,910,000

403 XX SHHS K20 & 32,693,000 40,039,000 ANT,346,000
= 27,783,000
& 4,910,000

01 XIS A2 X 32,693,000 40,039,000 ANT,346,000
Osdtx=&2 A 32,693,000
= 27,783,000
o=} 4,910,000

ol+=&ZHHIBTLY U= 26,838,000 27,097,000 A 259,000
= 25,587,000
= 1,251,000

403 XX SRS KH20| & 26,838,000 27,097,000 A 259,000
= 25,587,000
= 1,251,000

01 XIS A=2E X 26,838,000 27,097,000 A 259,000
Odlx=&= X H| BTLY U= 26,838,000
= 25,587,000
& 1,251,000

IEE2 a3 Z2H2lAIE JH& A 6,223,000 8,414,000 A2,191,000
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sIaE= £ SR
92 20 EXles #H=EE =5
St AlE BEC2 IHE 488l =4 (22 &d)

= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
= 6,223,000
403 MtXISHHSA=0l& 6,223,000 8,414,000 A2,191,000
= 6,223,000
01 XM A2E X 6,223,000 8,414,000 A 2,191,000
OIINEE =SS HAENE A 6,223,000
= 6,223,000
ENE=UHE 3,720,000 0 3,720,000
= 3,000,000
< 720,000
403 XIS E X201 & 3,720,000 0 3,720,000
= 3,000,000
< 720,000
01 X SHHA2E = 3,720,000 0 3,720,000
OEANE=UE 3,720,000
= 3,000,000
= 720,000
£Jts8 Kot 22l MH =2 59,300 522,200 A 462,900
= 5,000
< 54,300
ANot=2 22D LI ALY 36,000 244,000 A208,000
403 A X EHHS =0l A 36,000 244,000 208,000
01 X HHMA=LE L 36,000 244,000 A 208,000
OXot=E2x 252 AXAY 36,000
He=dzE =22 5,000 5,000 0
202 Odl 4,500 4,500 0
01 S LHAYI 4,500 4,500 0
OY=dE =& 4,500
206 M= Hl 500 500 0
01 M= 8l 500 500 0
OH=MsE RSHE R4+ 500
Aot &EX3 &=+ N 11,800 12,000 A 200
403 XIS E X201 & 11,800 12,000 A 200
01 X SHHX2E= 11,800 12,000 A 200
OXot= &XE A&=27 X 11,800
H==3sAE MEd 6,500 31,200 A 24,700
= 5,000
< 1,500
403 UHXSHHSA=0l& 6,500 31,200 A 24,700
= 5,000
< 1,500
01 HXSHMA=E X 6,500 31,200 AN 24,700
OH==23SAE AEHH 6,500




raox nx

2 BHMER SA T
Moot 20| EXlE #HEH 5=
90 NHItss Xota 22lMH &g

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
= 5,000
< 1,500
=g 22 800,000 800,000 0
FEINERES =R =S 800,000 800,000 0
FENERESENRES 800,000 800,000 0
308 MHXIEHSOIH 800,000 800,000 0
02 8+N2F= 800,000 800,000 0
Ox=ZINERE=s A==0R3 800,000
P2 (=22 ) 62,317 58,317 4,000
Jl= &l 62,317 58,317 4,000
Jl22Z34 62,317 58,317 4,000
201 Let24d| 18,627 18,627 0
01 At 22/l 18,627 18,627 0
OJle=+=&Hl 7,602
OJl2= &l 11,025
202 44l 39,690 39,690 0
01 SLHOIYI 39,690 39,690 0
OJl=0l 39,690
405 XHoHF S HI 4,000 0 4,000
01 HatH ESFH S 4,000 0 4,000
OZ g el 4,000
Heas(>Z22l) 809,250 832,000 A22,750
WHEHHX = 809,250 832,000 A22,750
HEHH X = 809,250 832,000 A22,750
705 ==&l 34 809,250 832,000 A22,750
03 Al - EXHEI IS0 +==2=aE 650,000 650,000 0
02010 st=HMelE, ot=22 ALY 650,000
04 Al - SXGHLI S0 =30l K& 159,250 182,000 A 22,750
02010 ot=Hcl &, ot=22 At 159,250
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> A
A & 0l & AF 2 E A A
20198 = =20l & LS SBaMSE=S ~ S3NE=
A= g3z = PN AE=X
MY ANY MENESH
ool MY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
At =X 73,378,396 75,924,197 A 2,545,801
= 37,363,492
s 17,721,950
J| 130,000
< 18,162,954
JHE MEHE=EH 73,291,981 75,865,880 A2,573,899
= 37,349,443
s 17,721,950
J| 130,000
< 18,090,588
AHISEXA 8,742,695 12,320,586 A 3,577,891
= 5,999,386
s 300,000
< 2,443,309
MHIFAEEY 29,811 45,600 A 15,789
= 19,874
< 9,937
308 MtXIEHSOIH 29,811 45,600 A 15,789
= 19,874
< 9,937
01 HXNHHNBHELS 29,811 45,600 A 15,789
Otz gAHEHRY 29,811
= 19,874
< 9,937
AAS LSS 520,500 525,000 A 4,500
= 347,000
< 173,500
308 XA EHSOIA 520,500 525,000 A 4,500
= 347,000
< 173,500
01 HIXNHHNBHEELES 520,500 525,000 A 4,500
Oogdts & =3t 520,500
= 347,000
< 173,500
AASIHS KA 324,000 484,714 A 160,714
= 216,000
< 108,000
403 MtXISHH S A0l & 324,000 484,714 A 160,714
= 216,000
< 108,000
01 X SHHAN2E= 324,000 484,714 A 160,714
Ooget=E JIsX&E 324,000
= 216,000
< 108,000
YAUSHEAZAE 932,250 1,278,000 A 345,750
= 621,500
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A2 BINEYR SN MESXD
MY ANY MENESH
ool MY CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
= 310,750
403 XX SHHS K20 & 932,250 1,278,000 A 345,750
= 621,500
= 310,750
01 XIS A=Z2E X 932,250 1,278,000 A 345,750
OYAMEHHEAHAITAAE 932,250
= 621,500
& 310,750
AME RSI|IBHXA 146,175 247,500 A 101,325
= 97,450
& 48,725
403 XX SRS K 20| & 146,175 247,500 A 101,325
= 97,450
& 48,725
01 MXHHXE2BE =X 146,175 247,500 A 101,325
ONZE FEJIEHXA 146,175
= 97,450
o=t 48,725
AASMAD| B A 755,256 2,098,116 N 1,342,860
= 503,504
& 251,752
403 XX SHHS K20 & 755,256 2,098,116 N 1,342,860
= 503,504
& 251,752
01 XIS A2E X 755,256 2,098,116 N 1,342,860
OYUMSMAD|IBIX Y 755,256
= 503,504
= 251,752
AFQFA MAMNAEEQCIHE A& 5,201 3,500 1,701
= 2,972
& 2,229
308 XHXIGHH SO0l & 5,201 3,500 1,701
= 2,972
& 2,229
01 AIXSHHENEXZ 5,201 3,500 1,701
OM A MADFSHANE X 5,201
= 2,972
& 2,229
AST S MACET X4 250,000 1,160,000 A 910,000
= 200,000
=} 50,000
403 XX S M S X201 & 250,000 1,160,000 A 910,000
= 200,000
= 50,000
01 MXSHAHXNE2E X 250,000 1,160,000 A 910,000
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A= BHAME £ LHE
MY ANY MENESH
ool MY CER-ED
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
OME XS MACT] =4 250,000
2 200,000
= 50,000
MASE=SeHICX =4 1,359,561 1,281,105 78,456
2 906,374
= 453,187
403 XX SHHS K20 & 1,359,561 1,281,105 78,456
= 906,374
& 453,187
01 AIXISHMA=2E X 1,359,561 1,281,105 78,456
Ot =set3H R =4 1,359,561
= 906,374
& 453,187
UAMSMAMCI L AHAISA 442,830 617,087 N 174,257
= 295,220
& 147,610
403 XX SHHS K20 & 442 830 617,087 N 174,257
= 295,220
o= 147,610
01 XS AS2E X 442,830 617,087 N 174,257
OUASMACHTZA AMAF 442,830
= 295,220
= 147,610
A AAS THHH I (ELIHEFH) 20,915 1,022,578 A 1,001,663
= 18,301
= 2,614
308 XHXIGH SO0l & 20,915 1,022,578 A 1,001,663
= 18,301
= 2,614
01 AIKSHHEMNEXZ 20,915 1,022,578 A 1,001,663
OrEH AAS THHH 22 (EL I M) 20,915
= 18,301
o= 2,614
A AAMS THHH 22 (KIIEHIZ) 880,222 0 880,222
= 724,889
= 155,333
308 MXISHMSOIA 880,222 0 880,222
= 724,889
& 155,333
01 IXHHIMNEXTZ 880,222 0 880,222
OlzEAE AAZS THHH 22 (KIIEH Z2) 880,222
= 724,889
& 155,333
AMNZ AMXSERSHE 600,000 360,000 240,000
= 500,000
o= 100,000
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A= g34g £ &g
MY ANY MENESH
ool MY CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
403 UHXSHHSA=0l& 600,000 360,000 240,000
= 500,000
< 100,000
01 X SHMA2E X 600,000 360,000 240,000
Ogdts MXSERSHH 600,000
= 500,000
< 100,000
AAE IS4 245 MY 600,000 1,500,000 900,000
= 500,000
< 100,000
403 MtXISHHE X201 & 600,000 1,500,000 A 900,000
= 500,000
< 100,000
01 X SHHA2E = 600,000 1,500,000 900,000
OYutE Ir34tey 2435t ALY 600,000
= 500,000
< 100,000
o2 =SS 84 1,200,000 1,200,000 0
= 1,000,000
< 200,000
403 A X EHHS =0l A 1,200,000 1,200,000 0
= 1,000,000
< 200,000
01 X SHHMA=2LE L 1,200,000 1,200,000 0
OgutE =539 4 1,200,000
= 1,000,000
< 200,000
Ol LR AZ3 AFE(E4) 374,400 0 374,400
s 288,000
< 86,400
308 XX EHSOIA 374,400 0 374,400
s 288,000
< 86,400
01 HIXNHHBNEES 374,400 0 374,400
ozl AlAE 2 S 374,400
s 288,000
< 86,400
Ol LR AZ3a ALY (RH2) 15,600 0 15,600
s 12,000
< 3,600
403 MHXISHE X201 E 15,600 0 15,600
ras 12,000
< 3,600
01 X SHHX2E = 15,600 0 15,600
OlldLt® AZE3 M (BS02AE) 15,600
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4= sFael SN aE=STD
MY ANY MENESH
& MEEAES (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
MHEFES 12,259,499 9,206,437 3,053,062
= 7,357,132
& 4,902,367
MZ0YHA PESA(BL) 177,364 177,364 0
= 122,320
< 55,044
308 AHAIEHHSOIA 177,364 177,364 0
= 122,320
< 55,044
01 HXNHHNBHELS 177,364 177,364 0
OdERA LA FRNE S 60,320
= 41,600
< 18,720
OMERE X XA 28,826
= 19,880
< 8,946
OdEAE 2 AFET A 88,218
= 60,840
< 27,378
AE2XSHA E2D(F ) 225,752 214,587 11,165
= 155,691
< 70,061
308 X EHHSOIA 225,752 214,587 11,165
= 155,691
< 70,061
01 IXNHHBNEES 225,752 214,587 11,165
Ol &l gt & 129,008
= 88,971
< 40,037
OstHERADI 25,520
= 17,600
< 7,920
OL=2 83X S A 42,224
= 29,120
< 13,104
Ot2 8 s E S04 29,000
= 20,000
< 9,000
AEXSHA AE2E (2 &) XA 4,000 4,000 0
= 1,600
< 2,400
202 Odl 4,000 4,000 0
= 1,600
< 2,400
01 20 b 4,000 4,000 0
Ootsue & d3ES 0l 4,000
= 1,600
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A= BHAME
MY ANY MENESH
& MEEAES (9 ® =)
- _ _ RE]
SA - B .G (3H) - AEAY - BYS Ol At o %Eﬁ HR=2
MEXSHAH RE2F(A2) 157,789 192,009 N 34,220
= 108,820
& 48,969
403 XX SHHS K201 & 157,789 192,009 N 34,220
= 108,820
= 48,969
01 XIS AS2E X 157,789 192,009 N 34,220
Odt= & 3t &t 88,740
= 61,200
=} 27,540
ORI ANE(XHE2) 3,480
= 2,400
& 1,080
OMSAEATAIAE SIS 44,109
= 30,420
& 13,689
ORE2AE(ZHIIXNZ) 11,600
= 8,000
= 3,600
OJIH3Z &2 TSAAE(ZH) 9,860
= 6,800
= 3,060
S5 U ZAHIHE) 928 464 464
= 640
= 288
403 XX SHHS K20 & 928 464 464
2 640
= 288
01 AXHAMAEBE = 928 464 464
Obt= T AFZ A A 928
2 640
= 288
S0 XS 4,611,416 4,380,894 230,522
= 3,180,287
o= 1,431,129
308 XX SHHSOIH 4,611,416 4,380,894 230,522
= 3,180,287
& 1,431,129
01 IIXHHINMNEEXTZ 4,611,416 4,380,894 230,522
O dst 24 4,304,670
= 2,968,738
== 1,335,932
ONEX2H NS 222 155,514
2 107,251
o= 48,263
ONSHZUHENSIN SSXHE 151,232
= 104,298
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U
W

i
x
>

u
i
=
S

A= g34g £ &g
M AR MAXARH
ool MEBELES (crol e
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
= 9,500
01 IXNHHBNEES 9,500 9,000 500
QUEUZ 2SS (X&) 9,500
= 9,500
B2 ESES(XE) 2,557 2,057 500
= 2,557
202 (44l 2,557 2,057 500
= 2,557
01 S LHOIYI 2,557 2,057 500
OWSY FEHS(NE) 2,557
2 2,557
MEMH2 =X MY 396,683 449,569 A 52,886
= 396,683
403 XIXISHHIS X201 & 396,683 449,569 52,886
2 396,683
01 X ESHMA=2E L 396,683 449,569 A 52,886
OHMSH2t F=RIX &AL 396,683
= 396,683
S (EW) M E =2 1,943,400 180,572 1,762,828
= 1,722,000
= 221,400
403 X SHHE A0l & 1,943,400 180,572 1,762,828
= 1,722,000
< 221,400
01 AXSHMA=2E X 1,943,400 180,572 1,762,828
OWSH2H(HY) MEj = =@ 1,943,400
= 1,722,000
< 221,400
S (EY) MH=s S Btgd Eot 2,596 7,551 A4,955
= 2,300
< 296
308 XX EHH SOl A 2,596 7,551 A 4,955
= 2,300
< 296
01 X HHILEES 2,596 7,551 A 4,955
QUHEUZH(EW)MHE =3 EtEdd EIt 2,596
= 2,300
< 296
Es+=ZH A 86,400 86,400 0
308 A EHHSOIA 86,400 86,400 0
01 HXNHHNBHEELS 86,400 86,400 0
OBs+=FHl At 86,400
M3 AHIAZ0F 213 H| 30,500 31,460 A 960
= 30,500
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A2 BINEYR SN MESXD
MY ANY MENESH
& MEEAES (cho &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 30,500 31,460 A 960
= 30,500
01 HIXNHHBHEELS 30,500 31,460 A 960
OMSIMEIAZO0F 21 Y| 30,500
= 30,500
2 otH S A 349,461 353,800 A 4,339
= 272,329
=) 77,132
308 XXM SO A 349,461 353,800 A 4,339
= 272,329
=) 77,132
01 AXHHBISEES 349,461 353,800 A 4,339
Ogerdai=E Al 349,461
=2 272,329
< 77,132
A2USHESE X 415,630 209, 866 205,764
= 373,528
= 42,102
308 MtXIEHMSOIH 415,630 209, 866 205,764
2 373,528
= 42,102
01 HXNHHBHELS 415,630 209, 866 205,764
OxURMEsE X 415,630
2 373,528
< 42,102
AU HEESE OlsEHsxza 29 210,392 192,348 18,044
= 161,840
=) 48,552
308 XX EHSOIA 210,392 192,348 18,044
2 161,840
& 48,552
01 HIXNHHBNEES 210,392 192,348 18,044
OAURHESE OlsHsxzL 29 210,392
2 161,840
< 48,552
A2USHESYE 0lsA I 2 86,900 0 86,900
= 77,000
< 9,900
403 XIS E X201 H 86,900 0 86,900
= 77,000
< 9,900
01 X SHHX2E = 86,900 0 86,900
OO0l=s4l mtMIl 2 86,900
= 77,000
S 9,900
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A= EHHAMEZ 2A A E =X
MY ANY MENESH
& MEEAES (9 ® =)
- _ RE]
AT SN BH O (3H) - MEAY - BES Ol At o %Eﬁ HR=2
=28 = 26,000 26,000 0
= 20,000
& 6,000
308 XAHXIEHSOIA 26,000 26,000 0
= 20,000
= 6,000
01 AIXSHMENMNEX= 26,000 26,000 0
=S A= 26,000
= 20,000
=} 6,000
MEHHES WEEMS 2F 564,096 529,776 34,320
= 433,920
& 130,176
308 XNXIGHSO0l& 564,096 529,776 34,320
= 433,920
== 130,176
01 AIXISHHENEXZ 564,096 529,776 34,320
OKtEdgals WEede 29 564,096
= 433,920
= 130,176
Al E 2 HEH 2 20,020 22,022 A2,002
= 15,400
=} 4,620
403 XX S M S K201 A 20,020 22,022 A2,002
= 15,400
= 4,620
01 IS A2E X 20,020 22,022 A 2,002
OMteldals S &Y 2 20,020
= 15,400
== 4,620
AULUSMESY OEXAIR 19,806 18,150 1,656
308 XX EH SO A 19,806 18,150 1,656
01 AIXSHMEMNEX= 19,806 18,150 1,656
OALURMAEY WEXALH 19,806
METRAXY 27,246,711 27,555,491 A 308,780
= 18,198,978
Fag 3,470,000
J| 130,000
& 5,447,733
el At 8,124,796 4,924,763 3,200,033
= 6,129,134
& 1,995,662
403 XX SHHS K20 & 8,124,796 4,924,763 3,200,033
= 6,129,134
== 1,995,662
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u
i
=
S

A= SFAE £ &g
M AR MAXARH
Chelr MR H (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
01 HXSHMA2E X 8,124,796 4,924,763 3,200,033
OZXEAY 8,124,796
= 6,129,134
< 1,995,662
rg8E B=s7¢ 3,123,708 2,824,080 299,628
= 3,123,708
206 M= Hl 3,123,708 2,824,080 299,628
= 3,123,708
01 MHZ 4l 3,123,708 2,824,080 299,628
Oxg& 2=27¢ 3,123,708
= 3,123,708
RIYLDIBEY 135,981 6,320 129,661
= 105,300
< 30,681
403 A X EHHS 20l A 135,981 6,320 129,661
= 105,300
< 30,681
01 X EHHMAZLE L 135,981 6,320 129,661
OQIMAIIE =4 135,981
= 105,300
< 30,681
2= s 2 13,500 13,500 0
201 Ler24] 4,000 4,000 0
03 A2 Z Hl 4,000 4,000 0
OXPER, 822 s F¥ 4,000
206 = Hl 6,000 6,000 0
01 MHZ 4l 6,000 6,000 0
OE= ¢ 6,000
301 gt d= 3,500 3,500 0
09 SALAHIE &S 3,500 3,500 0
OalsdaAm 2 (A2 7¢) 3,500
M =ItRI| 9,878,490 13,091,485 A 3,212,995
= 7,598,839
< 2,279,651
403 UtXSHHSA=0l& 9,878,490 13,091,485 A 3,212,995
= 7,598,839
< 2,279,651
01 AXSHMA2E X 9,878,490 13,091,485 A 3,212,995
OF=EIIRI| 9.878,4%0
= 7,598,839
< 2,279,651
=JtRI| KR ZAEH(XIR) 283,708 216,758 66,950
= 220,210
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U
W

i
x
>

u
i
=
S

s A £ Ared
dHE MEANISH
NP ESE el E )
S 2N BB (BH) - SN - B2 ﬁlf& HDS2
== 63,498
308 AXISHMSOIH 283,708 216,758 66,950
2 220,210
= 63,498
01 AXHHNBMNEXTS 283,708 216,758 66,950
O=JIRI| A XZANSHXH) 283,708
= 220,210
o= 63,498
AMHIOIQONA MEXE 989,002 1,002,489 N 13,487
= 764,867
& 224,135
403 X SHS X201 H 989,002 1,002,489 13,487
= 764,867
o= 224,135
01 AIXISHM A28 X 989,002 1,002,489 N 13,487
ONEHIOIQOA dSHE 989,002
= 764,867
= 224,135
AAI|HEH B3 32,500 32,500 0
= 25,000
= 7,500
403 XX S S K201 A 32,500 32,500 0
= 25,000
= 7,500
01 AXHNMAHEE = 32,500 32,500 0
OYAINHEH 23 32,500
= 25,000
& 7,500
TAE XS 2,520,000 3,380,000 860,000
rag 2,520,000
403 XX S M S X201 A 2,520,000 3,380,000 A 860,000
= 2,520,000
01 MXHHAE2BE = 2,520,000 3,380,000 A 860,000
OZANE &4 2,520,000
hag 2,520,000
=MI2 Us= Usd &4 130,000 540,000 A 410,000
J| 130,000
403 XX S M S K201 A 130,000 540,000 A 410,000
Dl 130,000
01 XIS A2 X 130,000 540,000 A 410,000
OsMIIZ2 Uss =4 130,000
Dl 130,000
MEMNHIA SR0(SAISX22E) 118,728 107,947 10,781
= 91,329
= 27,399
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BN SN MESXD
ZHE NS EY
MY T (St &)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
308 X EHSOIA 118,728 107,947 10,781
= 91,329
< 27,399
01 AXNSGHBLAEES 118,728 107,947 10,781
OMBNEIA ER0(ZAI=sXI22&) 118,728
= 91,329
< 27,399
AR MEIA E201(E 4= 2COUOIH) 52,767 47,975 4,792
= 40,591
< 12,176
308 XXM SO A 52,767 47,975 4,792
= 40,591
< 12,176
01 IXNSHHBANEES 52,767 47,975 4,792
O&EMHIA =201(H&= ZCOUIOIE) 52,767
= 40,591
< 12,176
fzsttel 130,000 65,000 65,000
= 100,000
< 30,000
403 A X EHHS =0l A 130,000 65,000 65,000
= 100,000
< 30,000
01 X SHHMA=2LE L 130,000 65,000 65,000
Of3stsdt =4 130,000
= 100,000
< 30,000
NgEA =4 1,235,000 650,000 585,000
s 950,000
< 285,000
403 X SHHSA=0l& 1,235,000 650,000 585,000
s 950,000
< 285,000
01 X SHMA=2E X 1,235,000 650,000 585,000
OXNYEH =4 1,235,000
s 950,000
< 285,000
LietZ 233 |4 N 23,500 23,500 0
201 et 5,600 5,600 0
01 At 22l 350 350 0
OouctZ 223 FE(HA)E AR =2 350
03 A2 Z Hl 5,250 5,250 0
OLatZE 233 SE(HAE 5,250
303 Z& 3 1,000 1,000 0

_37_




A2 BINEYR SN MESXD
MY ANY MENESH
Col: METIR TN (St &)
- _ — d =
224 B BN NRAY - BES 0] &k o4 e HlDE2
01 243 1,000 1,000 0
OLictZ 223 SE(HEANS A&3 1,000
403 MHXISHE X201 E 16,900 16,900 0
01 X SHHAN2E= 16,900 16,900 0
OLtE 233 5d & 24X 22l 16,900
W= =4 45,000 0 45,000
403 A X EHHS =0l A 45,000 0 45,000
01 X EHHMA=LE L 45,000 0 45,000
OdiZ= =4 45,000
A AN "I 24 3,000 3,000 0
201 ¢4l 3,000 3,000 0
01 At 2t 2l 3,000 3,000 0
OLF ALY EItld =8 3,000
28 = NP0 HYEH 2 397,031 355,574 41,457
308 XXM SOIA 397,031 355,574 41,457
01 IXNHHBNEES 397,031 355,574 41,457
OAdds = X0l HYE 2 397,031
t2 = FHIAMY 10,000 0 10,000
403 Mt S E X201 & 10,000 0 10,000
01 XXM 22 = 10,000 0 10,000
OJtz+ FHl At 10,000
MEHEHE &K 2e 11,323,035 9,906,247 1,416,788
= 3,252,526
s 6,327,950
< 1,742,559
a2 B2 503,000 827,200 A 324,200
= 362,000
< 141,000
403 MHXSHHSA=0l& 503,000 827,200 A324,200
= 362,000
< 141,000
01 X ESHMA=LE L 503,000 827,200 A 324,200
OFgg SRR 2L 453,600
= 324,000
< 129,600
OAzl=XE SHER 224 49,400
= 38,000
< 11,400
SHolE oA 29 22,386 15,990 6,396
= 17,220
< 5,166

_38_




A= g3z = PN AE=TI
M AN MENIEH
Cl: MEHEE AtXlI2e] (SH9: &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
308 X EHSOIA 22,386 15,990 6,396
=2 17,220
< 5,166
01 HIXNHHBHNEELES 22,386 15,990 6,396
OSMoIE SHZAE 2 22,386
= 17,220
< 5,166
SMHASALE SHat 224,000 448,000 A 224,000
= 200,000
< 24,000
403 MtXISHHE X201 & 224,000 448,000 A 224,000
= 200,000
< 24,000
01 X SHHA2E = 224,000 448,000 A 224,000
O=Mad Al s 224,000
= 200,000
< 24,000
SHHES S22l AHIEA 29 10,000 10,000 0
= 10,000
308 MXIEHSOIH 10,000 10,000 0
= 10,000
01 HXNHHBHELS 10,000 10,000 0
OSMHE SE2el MEFEA 29 10,000
= 10,000
QA "otsd 12,429 12,429 0
s 8,700
= 3,729
201 ¢er24] 12,429 12,429 0
s 8,700
S 3,729
01 At 2t 2l 12,429 12,429 0
O ALY EtEHE EOt 12,429
s 8,700
= 3,729
AT A 7,004,813 6,959,932 44,881
z 6,129,213
< 875,600
403 Mt S E X201 E 7,004,813 6,959,932 44,881
s 6,129,213
= 875,600
01 X SN2 2= 7,004,813 6,959,932 44,881
OYZAIE 7,004,813
s 6,129,213
< 875,600
Q2@ Al 217,185 289,102 AT1,917
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A2 BINEYR SN MESXD
M AN MENIEH
Selr dEjEd dX2e (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
e 190,037
= 27,148
308 XX EHHSOIA 217,185 289,102 AT1,917
s 190,037
= 27,148
01 HIXNHHBNEES 217,185 289,102 AT1,917
O el el 217,185
s 190,037
< 27,148
AHARER & Z 0l &2 & 335,393 318,252 17,141
= 231,306
< 104,087
308 XtXIEHH SOl A 335,393 318,252 17,141
= 231,306
< 104,087
01 X HHILEES 335,393 318,252 17,141
OAHALEH & & 0l & E 335,393
= 231,306
< 104,087
AEAFRY H XIS X8 & 48,000 48,000 0
403 UHXSHHSA=0l& 48,000 48,000 0
01 X ESHHMA=E L 48,000 48,000 0
OALALEH H 2+ XIS HEXIE A X 48,000
e d4sE=23 MY 656,829 977,342 A 320,513
= 582,000
=) 74,829
403 MtXSHHS =0l & 656,829 977,342 A 320,513
= 582,000
=) 74,829
01 XM A=2E X 656,829 977,342 A 320,513
OURE SE=F ALY 656,829
= 582,000
< 74,829
AtX2tel XA = 100,000 0 100,000
207 A RO 100,000 0 100,000
01 A3 39l 100,000 0 100,000
OM2xt &X2tel XFEHE =8 QS 100,000
ST =24 1,120,000 0 1,120,000
= 1,000,000
< 120,000
403 A X EHHS K20l A 1,120,000 0 1,120,000
= 1,000,000
< 120,000
01 X ESHHMA=2LE L 1,120,000 0 1,120,000
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I EIE SN AYSRD
MY ANY MENESH
Selr dEjEd dX2e (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

OSTHAHSHI =4 1,120,000
= 1,000,000
< 120,000

=4 SHAH =4 845,000 0 845,000
2 650,000
= 195,000

403 MtXISHHE X201 E 845,000 0 845,000
= 650,000
< 195,000

01 AXISHHA2E = 845,000 0 845,000
Ozt 2AH =4 845,000
2 650,000
< 195,000

dE=S6 SHHE ALY 224,000 0 224,000
= 200,000
< 24,000

403 A X EHS =0l A 224,000 0 224,000
= 200,000
< 24,000

01 X EHHMA=ZLE L 224,000 0 224,000
OLE=E SZME MY 224,000
2 200,000
< 24,000

SL2sEsd 13,720,041 16,877,119 A 3,157,078
= 2,541,421
s 7,624,000
=) 3,554,620

23 F-fForest &4 273,000 2,145,000 A 1,872,000
= 210,000
< 63,000

403 Ut S =0l & 273,000 2,145,000 A 1,872,000
= 210,000
< 63,000

01 HXSHMA2E X 273,000 2,145,000 A 1,872,000
O=3d H-Forest &4 273,000
= 210,000
< 63,000

gds dUAHK =4 1,388,400 2,665,000 A 1,276,600
= 1,068,000
< 320,400

403 MtXISH S A2 01 & 1,388,400 2,665,000 A 1,276,600
= 1,068,000
< 320,400

01 X SHHAN2E = 1,388,400 2,665,000 A 1,276,600
Ods &UAEHX =4 1,388,400
= 1,068,000




A2 BINEYR SN MESXD
M AN MENIEH
S FYRHSA (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
| == 320,400
Aosed x4d 3,840,000 6,450,000 A 2,610,000
s 2,560,000
< 1,280,000
403 Mt SHHSA=0l& 3,840,000 6,450,000 A 2,610,000
s 2,560,000
< 1,280,000
01 HIXSHMA2E X 3,840,000 6,450,000 A 2,610,000
OXgsdd =4 1,515,000
s 1,010,000
< 505,000
Oltgsgy 2 2,325,000
o 1,550,000
< 775,000
AHssd Selol HSAY 165,750 110,500 55,250
2 127,500
< 38,250
403 A X EHHS 20l A 165,750 110,500 55,250
= 127,500
< 38,250
01 X HMA=2E X 165,750 110,500 55,250
OXNgs2dd Sl HSAS 165,750
= 127,500
< 38,250
Asod= =4 1,430,000 1,950,000 A520,000
s 1,100,000
< 330,000
403 XIS S K =0l & 1,430,000 1,950,000 520,000
s 1,100,000
< 330,000
01 XM A=2E X 1,430,000 1,950,000 A 520,000
Oxso= =4 1,430,000
s 1,100,000
< 330,000
MYAHA SRO(MEARNEA 29) 179,400 140,400 39,000
= 138,000
< 41,400
308 XtXIEHH SOl A 179,400 140,400 39,000
= 138,000
< 41,400
01 AXHHILEES 179,400 140,400 39,000
OdEXR XA 2 179,400
= 138,000
< 41,400
MEYUZ=AIE =4 975,000 0 975,000
s 750,000
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A2 BINEYR SN MESXD
MY ANY MENESH
S FYRHSA (B9 ®R)
= - — SHE]|
22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t
== 225,000
403 MtXISHHSA=0l& 975,000 0 975,000
s 750,000
< 225,000
01 XM A=2E X 975,000 0 975,000
OttE Y ZE=AIE =4 975,000
s 750,000
< 225,000
MEAMHIA ES01(=EII2Y) 373,750 371,800 1,950
= 287,500
< 86,250
308 XtXIEHH SOl A 373,750 371,800 1,950
= 287,500
< 86,250
01 AXHHBIYEES 373,750 371,800 1,950
O MEIA ESR0I(EHEI2Y) 373,750
= 287,500
= 86,250
SAMHIA ER0(EFZHEXEA) 105,534 95,952 9,582
=2 81,182
< 24,352
308 AAIEHHSOIA 105,534 95,952 9,582
= 81,182
< 24,352
01 AXSHBLELS 105,534 95,952 9,582
OLEMEIA S201(Z2ZHME X S A 105,534
= 81,182
< 24,352
MEAMHIA S0 (=AEf2elol) 65,959 59,965 5,994
= 50,739
< 15,220
308 XXM SOl A 65,959 59,965 5,994
= 50,739
= 15,220
01 IXNHHBMNEES 65,959 59,965 5,994
O MEIA SR0I(=ME 222 29) 65,959
= 50,739
< 15,220
AEMHA S2R01(F0tz s 29%) 178,750 85,800 92,950
= 137,500
= 41,250
308 XtXIEHH SOl A 178,750 85,800 92,950
= 137,500
< 41,250
01 X HHILEXS 178,750 85,800 92,950
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E—E,ll =} - (A= |
MY ANY MENESH
©e: FYSHSH CERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
OUEMEIAER0 (R0l NE2F) 178,750
2 137,500
< 41,250
MAEMEHOISE 2H0HUAN 118,298 107,702 10,596
2 91,000
= 27,298
308 XXM SOIA 118,298 107,702 10,596
= 91,000
< 27,298
01 X HHBILEES 118,298 107,702 10,596
OL=EMEIDIS 2E0LIN 118,298
2 91,000
< 27,298
=2 Z4gac 351,000 650,000 299,000
s 270,000
< 81,000
403 A X EHS =0l A 351,000 650,000 299,000
s 270,000
< 81,000
01 X EHHMA=ZLE L 351,000 650,000 299,000
OMad Si2 Fl 351,000
as 270,000
< 81,000
oA &R =2 =4 1,560,000 1,300,000 260,000
s 1,200,000
= 360,000
403 MtXISHH S =0l & 1,560,000 1,300,000 260,000
s 1,200,000
S 360,000
01 AXISHHA=2E = 1,560,000 1,300,000 260,000
OSEXl s =2 24 1,560,000
s 1,200,000
< 360,000
arofolel 2 =4 195,000 0 195,000
s 150,000
< 45,000
403 XIS E X201 & 195,000 0 195,000
s 150,000
< 45,000
01 X SHHAN2E= 195,000 0 195,000
Odrtole] 2 =4 195,000
s 150,000
< 45,000
A St scdl2 =4 806,000 0 806,000
s 620,000
< 186,000
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A2 BINEYR SN MESXD
M AN MENIEH
S FYRHSA (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
403 UHXSHHSA=0l& 806,000 0 806,000
s 620,000
< 186,000
01 X SHMA2E X 806,000 0 806,000
OXNYEs sd2 =4 806,000
s 620,000
< 186,000
=old Sdl2 29 - 2el 78,000 78,000 0
as 60,000
< 18,000
308 XXM SO A 78,000 78,000 0
as 60,000
< 18,000
01 AXHHBILEES 78,000 78,000 0
Oxceldt 22 282 78,000
s 60,000
< 18,000
MYUDNSHH X4 130,000 0 130,000
s 100,000
< 30,000
403 REXI S M S K= 0l & 130,000 0 130,000
s 100,000
< 30,000
01 X SHHMA=2LE L 130,000 0 130,000
OgdEXl = gdstn 2 130,000
s 100,000
< 30,000
QO0t=HES T4 96,200 0 96,200
s 74,000
< 22,200
403 X SHHSA=0l& 96,200 0 96,200
s 74,000
< 22,200
01 X SHMA=2E X 96,200 0 96,200
=O0l=MEd =4 96,200
= 74,000
< 22,200
MEFLXRO0E =4 740,000 227,000 513,000
s 740,000
403 XSS K =0l & 740,000 227,000 513,000
s 740,000
01 X SHHX2E = 740,000 227,000 513,000
odtgds2iriE =4 740,000
s 740,000
&S 25 A 50,000 50,000 0
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4= sFael SN aE=STD
MY ANY MENESH
oo EASIHSA CER-ED
- _ _ RE]
SA - B .G (3H) - AEAY - BYS Ofl At o4 %Eﬁ HR=2
307 2Iz2to| & 50,000 50,000 0
04 SIZ2ISHAAIH E & 50,000 50,000 0
O 235 AN K& 50,000
MEXNS SEE T 29 30,000 30,000 0
308 XX GHHM SO0l & 30,000 30,000 0]
01 AIKISHHENEXZ 30,000 30,000 0
ONtelX® St 2T 29 30,000
N8 W= 20,000 20,000 0
307 QI2t0| ™ 20,000 20,000 0
02 QI2tAAMAIE E =X 20,000 20,000 0
O=HN&gns X 20,000
= =old 2AUS 15,000 15,000 0
307 212t0| & 15,000 15,000 0
04 SIZ2ISHAAISH E X 15,000 15,000 0
O&F= =old 2HU 3 15,000
=09 HA ArSH XL OHI A 100,000 0 100,000
201 B9 ]| 100,000 0 100,000
01 AP 22| H| 100,000 0 100,000
OS2/ HA AT I & 100,000
ME FHIA 195,000 0 195,000
= 150,000
= 45,000
403 XX SHHS K20 & 195,000 0 195,000
= 150,000
& 45,000
01 XIS A=2E X 195,000 0 195,000
OHMNE =HXS 195,000
= 150,000
= 45,000
e diss 260,000 0 260,000
= 200,000
o= 60,000
308 XX SHHSOIH 260,000 0 260,000
= 200,000
o=} 60,000
01 AIXSHMEMNEXZ 260,000 0 260,000
OMX g Adilsd 260,000
= 200,000
& 60,000
HESEAY (M=) 86,415 58,317 28,098
= 14,049
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